Multiplicacion por Celosia (H)

Use la multiplicacion por celosia para hallar cada producto.

58 x 36 = 93 x 26 = 2x10=__ 32x79 =

53 x 25 = T8 x 27 = 36 x 89 = 51 x95 =

5 4 2 7 9 4 3
7 1 2
5 5 3
54 x 75 = 27x15= 94x23= 33 x 31 =
3 2 3 8 7 8 6
8 9 1
7 3 3
32 x 87 = 38 x93 = 78 x 13 = 62 x 93 =
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Multiplicacion por Celosia (H) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

32 x 87 = 2.784

0 2 7

38 x93 =3.534

9 2
0 0 1
0 9 2
0 0 0
9 0 0
2 0

92 x 10 =920

0 1 4

78 x 13=1.014

33 x31=1,023

6 2
5 1 9
5 4 8
1 0 3
7 8 6
6 6

62 x93 =5.766
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